127 3 & hE #H< ¢ (wo3 aid zhonglguo?2 jiaodhuid gef

n_| J=89 . p— ]
e e s = e
= = t—g s ¢« o = .
v
1 tian1l — fud dai4 — 1ing3 wo3 —men jiao4 - hui4,
2 tian1l — fud juan4 - gu4 wo3 —men jiao4 - hui4,
3 tian1l — fud ci2 - fu2 wo3 —men jiao4 - hui4,
4 tian1 - fud ent dai4 wo3 — men jiao4d - hui4,
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zid zhi4, zi4 vyang3, zi4 — zhuan4, huan4 fal zhu3 guangl! — hui1;
yil zhu3, yil xin4, yil xi3, man3 you3 zhu3 enl — hui4;
xind — tu2 tong?2 - xin1 he2 - vyi4, ing2 enf geng chongl — pei4;
de2 — zhao2 zhong4d min2 xi3 - aid4, jian4 — zhengd zhu3 rong2 — mei3;
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shengd—jie2 jian1-zhen1, vyid4 — 1i4 dongl—-fangl, vyel — sul wei4 yuan2-shou3,
chuan2-yang?2 ji1l — duf, gaol qing2 shi2 — jia4, shengd4—1ing2 zai4 gongl — zuo4,
gian2—-cheng?2 fengd—xiand4, rong2 shen2 yi4 ren2, zhu3 zai4 gian2 yin3 — dao3,
genl sheni ye4d maod4, jiel —guo3 fengl-sheng4, zhu3 zhi3 bi4 cheng2—quan2,
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wo3 yong3 genl — sui2. wo3 ai4 zhongl — guo?2 jil—=dul jiao4 — hui4,
wo3 yong3 genl — sui2.
wo3 yong3 genl — sui2.
wo3 yong3 genl — sui2. wo3 ai4 zhongl — guo?2 jil—=dul jiao4 - hui4,
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jiao4d—huid4 shi4 jin1 dengl — tai2, he2—-er2-wei2-yi1l bi3—-ci3 xiangl—ai4,
jiao4d—huid4 shi4 jin1 dengl — tai2, he2—-er2-wei2-yi1l bi3—-ci3 xiangl—ai4,
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zhu3 yong3—-yuan3 yu3 wo3-men5 tong?2 zai4.
zhu3 yong3—-yuan3 yu3 wo3-men5 tong?2 zai4. a4 - men2
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